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5.5.1

47a (18 m3wp) > 48b (37211 K5 IN 19T MIXPI MIXD 1Y)

Chapter 5 picks up from where we left off at a:7—the collection of the n110p7 for bringing into the p’7177. The 1% part of '8 mwp and the
attendant 820 will deal with the amount (122911 851) of the n7vpwhich the 3715 brings in and the 2 vessels he uses.

Note #1: when bringing a 7mp 1277, the Anan is first put into a 11w 253 and brought to the SW corner of the nam; then the 773 scoops
up the 70135, along with a scoopful of the flour and places it (the pp1z) in a 2" »53, which is then dumped onto the narn
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L 1x mwn: preparation of nMop:
a. 2 new vessels:brought out to him from ovar n’a- firepan and 93 (“spoon”)
i. 92 necessary b/c he has to fill his hands — no hands left to carry nnnn
1. Cannot: bring it in shifts
2. Cannot: bring it on top of hands (filled with n11vp) — then, how would he transpose?
a.  Therefore: we use model of X1 (1 72701) — NNOP NRYN NNR 92
b.  /22729r he would fill his hands (subjective amount) with nmop and put into 93
c.  Then: he would take 93 in his left hand and firepan in his right hand...
i. Even though: right is more significant, firepan is heavier and hot
1. Stories: about mnnpn 12 YRYNW ', including mwiton v. 2
II. Meaurement of nyan (hands-full)
a. Re ppip. states 1¥mpa — not to establish an standard measure;
i.  Question: why not apply to vian r9n
ii. Answer: from our mwn “this was the measure” i.e. not to make a standard measure
1. Rejection: perhaps, same measure as taken inside (= there is another nyan inside)
iii. Alternate: that we may make a measure (due to ambiguity of wording) OR not to add or subtract
b. Re ppiz 1¥mpa - not overflowing, not just finger-tips
i. Rather: as a person normally scoops (3 middle fingers scooping, pinkie and thumb evening off
surface; one of the more challenging acts in the wTpn)
ii. Question: ymp caught between fingers in true middle —
1.  Answer: it is adjudged to be a pav (! — 8”2V )
2. Therefore: burn it second (can’t be burned 1%t = nnin »1»v lost between n1opm ymip)
a.  Challenge: violates principle of N> mwR 11nNW 53 may not be burned (v. 4)
i. Answer: burned as fuel, not as ymp (as per X" on v. 4)
b.  Challenge: how will X"17 13127 solve it?
i. Answer: use a 103 with fatty fingers, so that »1>a »31 is unlikely
III. ®98"’s inquiries
a.  Status of: nop between fingers (Xam — passive or np% — intentional) — yp'n
Alternative: forms of n¥np (scooping down-up etc.) —1p'n
Alternative: forms of man (e.g. grabbing separate hands full and joinin them) —p’n
Sticking: ymp onto walls of '93 (see note #1) — needs nmn or just to be inside —1p'n
(7N 77 73 71): sticking ymip onto bottom of *93 upside-down — nnin or “normal” NN — PPN
17291 N5p: even or overflowing —
i. Answer: : maav (filled generously, not overflowing)
g. Spillage: if nmop spilled out of his hands, :: ©7 spilling from 55 (salvageable) or from animal (not) yjpn
i. Re por if it spilled directly on ground, invalid (as per v. 5); from 93, may be salvaged
h.  Application: of w4 to nyan
i. Answer: " added nmop to things made invalid by »20v>n2% applies 2015 nawnn (="12) applies
i.  Application: of 9 to stirring coals — status of mxn *wan - ypon
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